ASYMPTOTIC AND INTEGRAL CLOSURE OF ELEMENTS IN MULTIPLICATIVE LATTICES

John P. Lediaev

1. INTRODUCTION

The cancellation property of ideals (if AB = AC and $A \neq 0$, then B = C) in a Dedekind domain does not generalize to arbitrary commutative rings. P. Samuel [7] showed how to restore the cancellation property in Noetherian rings by replacing the properties of the ideals themselves with asymptotic properties of their high powers. For this replacement, the notion of asymptotic closure of an ideal is fundamental. In this paper we give a lattice-theoretic characterization of asymptotic closure, we generalize the cancellation law to (commutative) multiplicative lattices that satisfy the ascending chain condition (Theorem 1), and we investigate some properties of this closure operation. In particular, we give a lattice-theoretic characterization of the notion of integral closure of an ideal (in a Noetherian ring), and by means of E. W. Johnson's A-transforms of a Noether lattice [3] we show that the asymptotic closure of an element in a Noether lattice coincides with its integral closure (Theorem 3). Since not all Noether lattices are lattices of ideals of a Noetherian ring [1], Theorem 3 extends M. Nagata's result that the asymptotic and integral closure operations coincide in Noetherian rings [4].

Finally, we establish some relations between the asymptotic closure operation in a Noether lattice and its A-transforms.

2. ASYMPTOTIC CLOSURE IN MULTIPLICATIVE LATTICES

A multiplicative lattice is a complete lattice provided with a commutative, associative, join-distributive multiplication for which the greatest element, denoted by I, is also the multiplicative identity (0 denotes the null element). In this section, L denotes a multiplicative lattice that satisfies the ascending chain condition. We shall now generalize the asymptotic closure of ideals (as characterized by D. Rees in [6]) to multiplicative lattices. The development toward the cancellation law is patterned after [5].

Let R denote the ordered additive group of real numbers, together with an element ∞ that satisfies the relations $\alpha + \infty = \infty$, $\infty + \infty = \infty$, $\infty > \alpha$ (here α denotes a real number). A mapping v: L \rightarrow R is a *pseudovaluation* on L if

- a) $v(0) = \infty$,
- b) v(I) = 0,
- c) v(AC) > v(A) + v(C) (A, C \in L), and
- d) $v(A \lor C) \ge \min(v(A), v(C))$ (A, C \in L).

Received September 13, 1968.

This research constitutes a portion of a doctoral dissertation written under the direction of Professor Louis J. Ratliff at the University of California at Riverside (June 1967). The author is indebted to Professor Ratliff for guidance and encouragement.

A pseudovaluation is homogeneous if for all positive integers n it satisfies the further condition

e)
$$v(A^n) = nv(A)$$
.

For each element B different from I, we define a function v_B on L by defining

$$v_B(A) \,=\, \left\{ \begin{array}{ll} \infty & \text{if } A \leq B^n \text{ for all nonnegative integers } n, \\ \\ n & \text{if } A \leq B^n \text{, but } A \not \leq B^{n+1} \end{array} \right.$$

(For nonpositive integers n, we define $B^n = I$.)

Since v_B is a pseudovaluation on L, $\lim_{n\to\infty} v_B(A^n)/n$ exists for all A, B in L. The proof of this statement is a straightforward generalization of an argument used in [6]; we omit the proof.

We now construct a homogeneous pseudovaluation \bar{v}_B on L defined by $\bar{v}_B(A) = \lim_{n \to \infty} v_B(A^n)/n$.

LEMMA 1. The function \bar{v}_B is a homogeneous pseudovaluation on L.

Proof. For a fixed element B in L, let $v = v_B$, and let $\bar{v} = \bar{v}_B$. Observe that

$$\bar{\mathbf{v}}(\mathbf{AC}) = \lim_{n \to \infty} \frac{\mathbf{v}(\mathbf{A}^n \mathbf{C}^n)}{n} \ge \lim_{n \to \infty} \left(\frac{\mathbf{v}(\mathbf{A}^n)}{n} + \frac{\mathbf{v}(\mathbf{C}^n)}{n} \right) = \bar{\mathbf{v}}(\mathbf{A}) + \bar{\mathbf{v}}(\mathbf{C})$$

and $\bar{v}(A^n) = \lim_{n \to \infty} nv(A^{nm})/nm = n\bar{v}(A)$. To show that $\bar{v}(A \vee C) \geq \min(\bar{v}(A), \bar{v}(C))$, let β be a real number such that $\beta < \min(\bar{v}(A), \bar{v}(C))$. There exists a positive integer n such that $v(A^m) \geq m\beta$ and $v(C^m) \geq m\beta$ for every integer $m \geq n$. Since v is a pseudovaluation, it follows that

$$v\left[(A \lor C)^{\rm kn}\right] \ge \, \min\left\{v(A^i\,C^{\rm kn-i})\right\}_{i=0}^{\rm kn} \ge \min\left\{v(A^i) + v(C^{\rm kn-i})\right\}_{i=0}^{\rm kn} \ge \, (k-1)n\beta$$

for all integers $k \ge 1$. Consequently, $\bar{v}(A \lor C) \ge \beta$. Since β is arbitrary, this completes the proof of the lemma.

If B is different from I, B_s is the join of all elements A that satisfy the condition $\bar{v}_B(A) \geq 1$; otherwise, $B_s = I$. Since B_s is a join of finitely many elements A that satisfy the inequality $\bar{v}_B(A) \geq 1$, and since \bar{v}_B is a pseudovaluation (Lemma 1), we conclude that $D \leq B_s$ if and only if $\bar{v}_B(D) \geq 1$. The mapping $B \to B_s$ is called the AC-operation on L.

The following lemma is an immediate consequence of the definition of $\bar{\mathbf{v}}_{\mathrm{B}}$.

LEMMA 2. Let α be a positive real number. A necessary and sufficient condition that $\bar{v}_B(A) \geq \alpha$ is that to each rational number $0 < p/q < \alpha$, there corresponds a positive integer n such that $A^{qn} \leq B^{pn}$.

By Lemma 2 above and by Lemma 1 in [5], we conclude that if L^* is a lattice of ideals of a Noetherian ring, then the AC-operation on L^* is precisely the asymptotic closure operation on L^* .

We now say that the AC-operation on L is the asymptotic closure operation on L. For each element A in L, we call A_s the asymptotic closure of A. If $A=A_s$, then A is asymptotically closed.

LEMMA 3. If A and B are elements of L different from I, and n is a positive integer, then

- a) $\bar{v}_A < \bar{v}_B$ whenever A < B,
- b) $A_s \leq B_s$ whenever $\bar{v}_A \leq \bar{v}_B$,
- c) $n\bar{v}_{\Delta n} = \bar{v}_{A}$,
- d) $A_s\,B_s \leq (AB)_s$, hence $(B_s)^n \leq (B^n)_s$,
- e) $\bar{\mathbf{v}}_{\mathbf{A}} = \bar{\mathbf{v}}_{\mathbf{A}_{\mathbf{S}}}$,
- f) $A_s \leq B_s$ whenever $A \leq B_s$, and
- g) $\bar{v}_A \leq \bar{v}_B$ whenever $A_s \leq B_s$.

Proof. Statements a) and b) are obvious, while both f) and g) are immediate consequences of a) and e). To prove c), let $D \in L$, and let p/q be a rational number such that $0 < p/q < \bar{v}_A(D)$. There exists a positive integer k such that $D^{nqkm} \le A^{npkm}$ for every integer $m \ge 1$ (Lemma 2). Therefore,

$$v_{\Delta n}(D^{nqkm})/nqkm \ge p/nq$$
.

Since D and p/q are arbitrary, we conclude that $n\bar{v}_{A^n} \geq \bar{v}_A$. The opposite inequality is proved by a similar argument. For each rational number 0 < p/q < 1, there exist positive integers m and n such that $A_s^{qm} \leq A^{pm}$ and $B_s^{qn} \leq B^{pn}$; hence $(A_s B_s)^{qk} \leq (AB)^{pk}$ (k = mn). Statement d) now follows by Lemma 2.

Finally, we prove that $\bar{v}_A = \bar{v}_{A_S}$. Let $D \in L$, and let $0 < p/q < \bar{v}_{A_S}(D)$. For some positive integer k, $D^{qk} \le (A_s)^{pk} \le (A^{pk})_s$. Consequently,

$$(q/p)\bar{v}_{A}(D) = qk\bar{v}_{A}^{pk}(D) = \bar{v}_{A}^{pk}(D^{qk}) \ge 1.$$

From this, we deduce that $\bar{v}_A(D) \geq \bar{v}_{A_s}(D)$. The opposite inequality holds by a).

A mapping x: L \rightarrow L (A \rightarrow A_x) is a *semiprime operation* on L if it satisfies the following conditions for all A, B \in L:

- a) $A < A_x$,
- b) if $A < B_x$, then $A_x < B_x$, and
- c) $A_x B_x \leq (AB)_x$.

The integral closure operation and the radical operation in a Noetherian ring R are semiprime operations on the lattice of ideals of R. The asymptotic closure operation on L is a semiprime operation (Lemma 3).

LEMMA 4. If A and B are elements in L different from I, then

$$\frac{1}{|\bar{\mathbf{v}}|_{AB}(M)} \leq \frac{1}{\bar{\mathbf{v}}|_{A}(M)} + \frac{1}{\bar{\mathbf{v}}|_{B}(M)}$$

for all $M \in L$ with $\bar{v}_{AB}(M) \neq 0$.

Proof. If $0 < n/m < \bar{v}_A(M)$ and $0 < p/q < \bar{v}_B(M)$, then there exist positive integers j and k such that $M^{mj} \le A^{nj}$ and $M^{qk} \le B^{pk}$. From this we deduce that

$$\frac{v_{AB}(M^{(mp+nq)kjt})}{(mp+nq)kjt} \ge \frac{np}{mp+nq}$$

for every positive integer t. Therefore, $1/\bar{v}_{AB}(M) \leq m/n + q/p$. To complete the proof, let n/m approach $\bar{v}_{A}(M)$ and let p/q approach $\bar{v}_{B}(M)$.

LEMMA 5. Let A and B be elements of L different from I. Then $\lim_{n\to\infty} n\bar{v}_{A^n B}(M)$ exists for all $M\in L$. Moreover,

- a) $\lim_{n\to\infty} n\bar{v}_{A^n B}(M) = \bar{v}_{A}(M)$, if there exists a positive integer m such that $M^m < B$;
 - b) $\lim_{n\to\infty} n\bar{v}_{A^n B}(M) = 0$, if $M^m \not\leq B$ for all integers m; and
- c) $\lim_{n\to\infty} n\bar{v}_A^n B(M) = \bar{v}_A(M)$ for all $M\in L$, if there exists a positive integer m such that $A^m < B$.

Proof. If $M^m \not\leq B$ for all integers m, then $\bar{v}_B(M) = 0$. Since $\bar{v}_{A^n B} \leq \bar{v}_B$ for all n, statement b) holds. Now assume that there exists a positive integer m such that $M^m \leq B$. If there exists a positive integer n such that $\bar{v}_{A^n B}(M) = 0$, then $\bar{v}_A(M) = 0$, and $\lim_{n \to \infty} n \bar{v}_{A^n B}(M)$ exists and is equal to zero. Assume that $\bar{v}_{A^n B}(M) > 0$ for every positive integer n. Then, by Lemmas 3 and 4,

$$\frac{1}{n\,\bar{v}_{A^{n}_{B}}(M)} \leq \frac{1}{\bar{v}_{A}(M)} + \frac{1}{n\,\bar{v}_{B}(M)}.$$

From this we deduce that

$$\limsup_{n\to\infty}\frac{1}{n\,\bar{v}_{A^n\,B}(M)}\leq \limsup_{n\to\infty}\left[\frac{1}{\bar{v}_A(M)}+\frac{1}{n\,\bar{v}_B(M)}\right]=\frac{1}{\bar{v}_A(M)}.$$

Consequently,

$$\bar{\boldsymbol{v}}_{\boldsymbol{A}}\!(\boldsymbol{M}) \leq \liminf_{n \to \infty} n \, \bar{\boldsymbol{v}}_{\boldsymbol{A}^n \, \boldsymbol{B}}\!(\boldsymbol{M}) \leq \limsup_{n \to \infty} n \, \bar{\boldsymbol{v}}_{\boldsymbol{A}^n \, \boldsymbol{B}}\!(\boldsymbol{M}) \leq \bar{\boldsymbol{v}}_{\boldsymbol{A}}\!(\boldsymbol{M}) \, .$$

Statement c) follows from a) and b).

THEOREM 1 (Cancellation Law). Let A, B, and C be elements in L. If $(AC)_s \leq (BC)_s$ and $A^m \leq C$ for some integer m, then $A_s \leq B_s$.

Proof. The relation $(AC)_s \leq (BC)_s$ implies that $(A^nC)_s \leq (B^nC)_s \leq (B^n)_s$ for each integer $n \geq 1$. Consequently, $\bar{v}_{A^nC} \leq \bar{v}_{B^n}$ for each integer $n \geq 1$ (Lemma 3). Therefore,

$$\bar{\mathbf{v}}_{\mathbf{A}}(\mathbf{M}) = \lim_{\mathbf{n} \to \infty} \mathbf{n} \bar{\mathbf{v}}_{\mathbf{A}^{\mathbf{n}} \mathbf{C}}(\mathbf{M}) \leq \bar{\mathbf{v}}_{\mathbf{B}}(\mathbf{M})$$

for all M ϵ L (Lemma 5); hence $A_s \leq B_s$.

In Lemma 2, the integer n depends upon the rational number p/q. We shall now show that n depends only on the element B, and we shall use this result to give a simpler characterization of the asymptotic closure.

LEMMA 6. Let B be an element of L. There is a positive integer n such that $(B_s)^{nq} \leq B^{np}$ for each rational number p/q (0 < p/q < 1). Furthermore, $M \leq B_s$ if and only if there exist integers n and k such that $(M^n)^{k+i} \leq (B^n)^i$ for every integer $i \geq 1$.

Proof. For each integer $m \ge 1$, let

$$B_{m} = \{M \in L \mid M^{m(k+1)} \leq B^{mk} \text{ for every integer } k \geq 1\},$$

and let

 $(B_m)'$ = $\big\{M\in L\big|$ there exists an integer $i\le m$ such that $M^{i\,(k+1)}\le B^{i\,k}$ for every integer $k\ge 1\big\}$.

Then $(B_m)'\subseteq (B_{m+1})'$ for each m. By the ascending chain condition, there exists an integer n^* such that

$$B^* = \bigvee \left(\bigcup_{m=1}^{\infty} (B_m)' \right) = \bigvee (B_{n*})'.$$

Since $B_p\subseteq B_q$ if p divides q, and since $B_m\subseteq (B_m)'\subseteq B_{\prod\left\{i\,\middle|\,0< i\leq m\right\}}$, it follows that

$$B^* = \bigvee B_{\prod\{i \mid 0 < i < n^*\}} \ge \bigvee B_m \quad \text{ for all } m.$$

Next we prove that $B^* \in B_n$ for some integer n. Let C and D be elements in B_m . Then

$$(C \lor D)^{m(k+1)} = \bigvee_{i=0}^{m(k+1)} C^{i}D^{mk+m-i} \le B^{m(k-2)}$$

for all integers $k \geq 1.$ Therefore, $(C \vee D)^{3\,m+mk} \leq B^{mk}$ for all integers $k \geq 1.$

From this, we deduce that $C \vee D \in B_{3m}$. Since $B_m \subseteq B_{3m}$, and since $\bigvee B_m$ is a join of finitely many elements of B_m , it follows that $B^* \in B_n$ for some integer n.

For each integer $k\geq 1$, there exists a positive integer h such that $(B_s)^{h(k+1)}\leq B^{hk}$; hence $B_s\leq \bigvee \Big(\bigcup_{m=1}^\infty (B_m)^r\Big)=B^*.$ Since $B^*\in B_n$ for some integer n, it follows that $B_s\in B_n$. Consequently, for any rational number p/q (0< p/q<1), we have the relations $(B_s)^{nq}\leq (B_s)^{n(p+1)}\leq B^{np}$. This completes the proof of the first statement in the lemma.

If $M \leq B_s$, then there exists an integer n such that $M^{nq} \leq B^{np}$ for every rational number p/q (0 < p/q < 1). In particular, $(M^n)^{k+i} \leq (B^n)^i$ for all integers $i \geq 1$ and $k \geq 1$. Conversely, if there exist integers n and k such that $(M^n)^{k+i} \leq (B^n)^i$ for all integers $i \geq 1$, then $v_B(M^{nk+ni})/n(k+i) \geq i/(k+i)$; hence $M \leq B_s$.

For $B \in L$, let

 $B_c = \bigvee \big\{ M \in L \big| \text{ there is a positive integer } n \text{ such that } M^{n+i} \leq B^i$ for all integers $i \geq 0 \big\}$.

THEOREM 2. $B_c = B_s$ for every element B in L.

Proof. There exists an integer n such that $B_c^{n+i} \leq B^i$ for every integer $i \geq 0$. Then $v_B(B_c^{n+i})/(n+i) \geq i/(n+i)$; hence $B_c \leq B_s$. Now let $M = B_s$. By Lemma 6, there exists an integer n such that $M^{nq} \leq B^{np}$ for every rational number p/q (0 < p/q < 1). In particular, $(M^n)^{i+1} \leq B^{ni}$ for every integer $i \geq 0$. For each integer $i \geq 0$, we can write i = nq + r $(0 \leq r < n)$. Then

$$M^{2n+i} = M^{n(2+q)+r} \le M^{n(2+q)} \le (B^n)^{(q+1)} \le B^{qn+r} = B^i.$$

Therefore, $B_s \leq B_c$.

3. INTEGRAL CLOSURE IN MULTIPLICATIVE LATTICES

Throughout this section, L denotes a multiplicative lattice that satisfies the ascending chain condition.

An element M is a-dependent on B if there exists a positive integer n such that $M^{n+1} \leq B(M \vee B)^n$. Since $(B \vee M)^k = \bigvee_{i=0}^k M^i B^{k-i}$ for every integer $k \geq 0$, it follows that M is a-dependent on B if and only if $(B \vee M)^{n+1} = B(B \vee M)^n$ for some integer $n \geq 1$. Let B_a denote the join of all elements that are a-dependent on B. By the ascending chain condition, B_a is a join of finitely many such elements. We call the mapping $B \to B_a$ the IC-operation on L.

LEMMA 7. If M and N are a-dependent on B, then so is $M \vee N$. Therefore B_a is a-dependent on B.

Proof. The identities $(B \vee M)^{m+1} = B(B \vee M)^m$ and $(B \vee N)^{n+1} = B(B \vee N)^n$ imply that

$$(B \vee M \vee N)^{m+n+1} = \bigvee_{i=0}^{m+n+1} (B \vee M)^{i} (B \vee N)^{m+n+1-i}$$

$$\leq \bigvee_{i=0}^{m+n} B(B \vee M)^{i} (B \vee N)^{m+n-i} = B(B \vee M \vee N)^{m+n}.$$

Therefore, if M and N are a-dependent on B, then so is $M \vee N$. Since B_a is a join of finitely many elements that are a-dependent on B, it follows that B_a is a-dependent on B.

We shall now prove that the IC-operation on L is a semiprime operation. If $A \leq B$ and M is a-dependent on A, then M is a-dependent on B; hence $A_a \leq B_a$. Now let M be a-dependent on B_a , so that $(B_a \vee M)^{n+1} = B_a(B_a \vee M)^n$ for some positive integer n. By Lemma 7, B_a is a-dependent on B; therefore $B_a^{k+1} = BB_a^k$ for some positive integer k. Consequently,

$$\begin{split} (B \vee (B_a \vee M))^{n+k+1} &= (B_a \vee M)^{n+k+1} = B_a^{k+1} (B_a \vee M)^n \\ &= BB_a^k (B_a \vee M)^n = B(B_a \vee M)^{n+k} = B(B \vee (B_a \vee M))^{n+k}; \end{split}$$

hence $M \leq B_a$. In particular, we conclude that $B_{aa} = B_a$ and that $A \leq B_a$ implies $A_a \leq B_{aa} = B_a$. Finally, the relation $A_a B_a \leq (AB)_a$ follows from the fact that if N is a-dependent on B, then MN is a-dependent on B (for any M).

If L* is a lattice of ideals of a Noetherian ring R, then the IC-operation on L* is precisely the integral closure operation on L*. Let B \in L*, and let B_f denote the integral closure of B in R. Since B_a is a-dependent on B (Lemma 7), there exists a positive integer k such that B_a^{k+1} = BB_a^k. This implies that B and B_a have the same integral closure in R [4]; hence B_a \subseteq B_f. Conversely, if b \in B_f, then there exist elements b_i \in Bⁱ such that bⁿ⁺¹ + b₁ bⁿ + ··· + b_n b + b_{n+1} = 0. Consequently, (bR)ⁿ⁺¹ \subseteq B(bR + B)ⁿ and bR \subseteq B_a. Therefore B_a = B_f.

We now say that the IC-operation on L is the *integral closure operation* on L. We call B_a the *integral closure* of B, and we say that B is *integrally closed* if $B=B_a$.

4. ASYMPTOTIC AND INTEGRAL CLOSURE IN NOETHER LATTICES

Throughout this section, L denotes a Noether lattice [2]. In order to show that the asymptotic closure of an element in a Noether lattice coincides with its integral closure, we introduce the notion of an A-transform of L.

Let $A \neq I$ be a fixed element of L, and consider the collection R(L,A) of all formal sums $\sum_{i=-\infty}^{\infty} B_i$ of elements B_i of L for which the relations $A^i \geq B_i \geq B_{i+1} \geq AB_i$ hold for all integers i. For elements $B, C \in R(L,A)$, we define

$$B \vee C = \sum (B_i \vee C_i), \quad B \wedge C = \sum (B_i \wedge C_i), \quad B \cdot C = \sum_i (\bigvee_{r+t=i} B_r C_t),$$

and we say that $B \le C$ if and only if $B_i \le C_i$ for all i.

The collection R(L,A), together with the operations \vee , \wedge , \cdot and the relation \leq , is called the A-transform of L. If $C \in L$ and $C \leq A^n$, then $C^{[n]}$ is the least element D of R(L,A) for which $D_n \geq C$. In the following lemma, we summarize some results from [3].

LEMMA 8. a) The A-transform of L is a Noether lattice.

- b) If $C \leq A^n$, then $C^{[n]} = \sum CA^{i-n}$.
- c) If C, $D \leq A^n$, then $C^{[n]} \vee D^{[n]} = (C \vee D)^{[n]}$.
- d) If $B \in R(L, A)$ and $C \leq A^n$ in L, then $BC^{[n]} = \sum B_{i-n}C$.
- e) If C and D are elements of L such that $C \leq A^n$ and $D \leq A^m$, then $C^{[n]}D^{[m]} = (CD)^{[n+m]}$.
- f) If B is a principal element of L such that $B \leq A^n$, then $B^{[n]}$ is a principal element in R(L, A).

Let a' and s' denote the integral closure and the asymptotic closure operations in R(L, A), respectively.

THEOREM 3. For every element $A \in L$, the equality $A_a = A_s$ holds, and $M \le A_s$ implies that M is a-dependent on A.

Proof. We show first that if B is a principal element and $M \leq B_s$, then M is a-dependent on B. Since $B_s = B_c$ (Theorem 2), there exists a positive integer n such that $M^{n+1} \leq B^i$ for every integer $i \geq 0$. Hence

$$M^{n+1} < B^{i} \wedge (M \vee B)^{n+i} = B^{i}((M \vee B)^{n+i} : B^{i})$$

for every integer $i \ge 0$ (the equality follows since B^i is a principal element [2, p. 485]). By the ascending chain condition in L, there exists a positive integer r such that

$$(M \vee B)^{n+r+i} : B^{r+i} = (M \vee B)^{n+r} : B^r$$

for every integer $i \ge 0$. Therefore

$$M^{n+r+1} < B[B^{r}((M \vee B)^{n+r} : B^{r})] < B(M \vee B)^{n+r};$$

hence M is a-dependent on B.

Now let A (A \neq I) be an element of L, and let $M \leq A_s$. There exists an n>0 such that $M^{n+i} \leq A^i$ for every $i \geq 0;$ therefore

$$I^{\left[-i\right]}(M^{n+i})^{\left[i\right]} \leq I^{\left[-i\right]}(A^i)^{\left[i\right]}.$$

Consequently, $M^{\left[0\right]} \leq I_{s}^{\left[-1\right]}$. Since $I^{\left[-1\right]}$ is a principal element in R(L, A) (Lemma 8), $M^{\left[0\right]}$ is a-dependent on $I^{\left[-1\right]}$. Therefore, there exists an n>0 such that

(*)
$$(I^{[-1]} \vee M^{[0]})^{n+1} = I^{[-1]} (I^{[-1]} \vee M^{[0]})^n .$$

The 0th component of the left side of (*) is $(A \vee M)^{n+1}$, while the 0th component of the right side of (*) is $A(A \vee M)^n$. Therefore $(A \vee M)^{n+1} = A(A \vee M)^n$, and M is a-dependent on A. In particular, $A_s \leq A_s$ implies that $A_s \leq A_a$. Since A_a is a-dependent on A (Lemma 7), there exists an integer $k \geq 1$ such that $A_a^{k+1} \leq AA_a^k$. From this, we conclude that $(A_a)_s \leq A_s$ (Theorem 1). Therefore $A_a = A_s$.

COROLLARY. Let A and B be elements of L. Then $A_s = B_s$ if and only if there exists an element $C \in L$ such that AC = BC and $(A \vee B)^n \leq C$ for some positive integer n.

Proof. Let $A_s = B_s$. By Theorem 3, $(B \vee A)^{n+1} = B(B \vee A)^n$ and $(B \vee A)^{k+1} = A(B \vee A)^k$ for some positive integers n and k. Consequently, AC = BC for $C = (B \vee A)^{k+n}$. The converse follows from Theorem 1.

Let x denote a semiprime operation on L. For each B in R(L, A), the formal sum $B_{x^*} = \sum [(B_n)_x \wedge A^n]$ is also in R(L, A). Furthermore, the mapping $x^* \colon R(L, A) \to R(L, A)$ is a semiprime operation on R(L, A). By means of this induced semiprime operation, the following theorem relates the asymptotic operation in L to the asymptotic operation in the A-transforms of L.

THEOREM 4. For each $B \in R(L, A)$, the relation $B_{s,*} \leq B_{s}$, holds. Furthermore, if $P \leq A^n$, then $P_{s,*}^{[n]} = P_{s,*}^{[n]}$.

Proof. The relation $M \leq (B_{s*})_n$ implies that $M^{k+1} \leq B_n (M \vee B_n)^k$ for some positive integer k. Consequently, $(M^{k+1})^{\left[nk+n\right]} \leq (B_n (M \vee B_n)^k)^{\left[nk+n\right]}$. By Lemma 8,

$$\begin{split} (M^{[n]})^{k+1} &= (M^{k+1})^{[nk+n]} \leq (B_n (M \vee B_n)^k)^{[nk+n]} \\ &= B_n^{[n]} ((M \vee B_n)^{[n]})^k = B_n^{[n]} (M^{[n]} \vee B_n^{[n]})^k \leq B(M^{[n]} \vee B)^k; \end{split}$$

hence $M^{[n]} \leq B_{s}$. This completes the proof of the first statement.

Now let $P \leq A^n$. By the first statement, it is sufficient to prove that $P_{s'}^{[n]} \leq P_{s*}^{[n]}$. The relation $M \leq (P_{s'}^{[n]})_k$ implies that $(M^{[k]})^{m+1} \leq P^{[n]}(M^{[k]} \vee P^{[n]})^m$ for some positive integer m. By Lemma 8, $(M^{[k]})^{m+1} = (M^{m+1})^{[km+m]}$. Consequently,

$$\begin{split} M^{m+1} & \leq (P^{\left[n\right]}(M^{\left[k\right]} \vee P^{\left[n\right]})^m)_{km+k} = \left(\bigvee_{i=0}^{m} (M^{\left[k\right]})^i (P^{\left[n\right]})^{m+1-i}\right)_{km+k} \\ & = \left(\bigvee_{i=0}^{m} (M^i)^{\left[ik\right]} (P^{m+1-i})^{\left[nm+n-in\right]}\right)_{km+k} \\ & = \bigvee_{i=0}^{m} ((M^i P^{m+1-i})^{\left[nm+n-in+ik\right]})_{km+k} = \bigvee_{i=0}^{m} M^i P^{m+1-i} A^{(k-m)(m+1-i)} \\ & = \bigvee_{i=0}^{m} M^i (PA^{k-n})^{m+1-i} \quad \text{(since } m+1-i \geq 0\text{)} \\ & = (PA^{k-n}) (M \vee (PA^{k-n}))^m \,. \end{split}$$

Therefore $M \le (PA^{k-n})_s \wedge A^k = (P_{s*}^{[n]})_k$.

REFERENCES

- 1. K. P. Bogart, Structure theorems for regular local Noether lattices. Michigan Math. J. 15 (1968), 167-176.
- 2. R. P. Dilworth, Abstract commutative ideal theory. Pacific J. Math. 12 (1962), 481-498.
- 3. E. W. Johnson, A-transforms and Hilbert functions in local lattices. Trans. Amer. Math. Soc. 137 (1969), 125-139.
- 4. M. Nagata, Note on a paper of Samuel concerning asymptotic properties of ideals. Mem. Coll. Sci. Univ. Kyoto. Ser. A. Math. 30 (1957), 165-175.
- 5. J. W. Petro, Some results on the asymptotic completion of an ideal. Proc. Amer. Math. Soc. 15 (1964), 519-525.
- 6. D. Rees, Valuations associated with a local ring. I. Proc. London Math. Soc. (3) 5 (1955), 107-128.
- 7. P. Samuel, Some asymptotic properties of powers of ideals. Ann. of Math. (2) 56 (1952), 11-21.

The University of Iowa Iowa City, Iowa 52240